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MATHECMATICS By Pradeep Sir

Q. 1) The speed of a boat in still water is 14 km/h and the
“S speed of stream is 3 km/h. Find the upstream speed?
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Q. 2) If the speed of a boat in upstream is 2 km/h and in
downstream is 8 km/h. Find the speed of boat in still

—

water? =]
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MATHCMATICS By Pradeep Sir

Q. 3) The speeds of a boat in upstream and in
downstream are 3 km/h and 13 km/h respectively. Find

2 the speed of stream?
Z+y=| ?m #t uRT 2 femm & arer 13 Redt /av2 & qur uRT ¥
3 fezm # are 3 /g 81wt 9t 9 39 Fifee
_j____:______. (A) 6 kamph
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Q/ (C) 4 kmph
(D) 5 kmph

Q. 4) A man can row _2_2_ km in 4 hours along the stream
and can cover the same distance in 8 hours against the
water. Find the speed of stream?
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Q. 5) A boatman goes 30 km along the stream in 2 hours
and goes 15 km against the stream in 5 hours. Find the

28 speed of boatmaaa inﬁ;tri[ll %\mteré_ﬂﬂ Eﬂgﬂ wib
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Q. 6) The speed of a boat in still water is_15 km/h and the
Z 3 |S[em J h. speed of stream is 3 “km/h. The distance traveled
downstream in 12 minutes is-

US 919 3! Uid o & 91t 15 5t /902 § a1 4RT 31 919
C.} Py 3"’"‘\ S 3ﬁﬂﬂ/m)%?. a}aamaumaﬁ%mﬁufhazﬁﬁm'-ﬂ

ol ag B
A) 4 km
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(D) 8 km
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Q. 7) A boat takes half time in moving a certain distance
downstream than
-5 b .s upstream. The ratio of the speed of the boat in still water
and that of I
G2 - 7 Jo1 B ¥ s o 1 g 3
L URT
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Q. 8) A person rows upstream_a_distance of 55 km in 5

hours and rows downstream a distance of 75 km in 3
hours. How much time will he take to row a distance of
96 km in still water? =

Yty U7 2 e 2w A 55k B 20 5 92 A 7w
Hdl ¢ 3R URT Bt G2 H 75 ke F1 g 3.9 & 79 Han
21 3@ RR & # 96 km P g 77 A | (a1 49T
| ? —— e
(A) 4 hours 40 minutes
(B) 6 hours 10 minutes

hc 45 minutes
(D) 5 hours 20 minutes
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Q. 9) - A boat takes 630 minutes to travel from point A

T Z 6 30 mam to B and then come back to point A. The distance
- between point A and B is 72 km. If the respective ratio of
speed of the boat in still water and speed of water
S 4 — ' ;urrent is 7: 1, what is the mf the boat downstream
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S ' %%HGBORFE &1 9HYT ddl 31 R A | B & gl 72
21 afe wia oet # 19 3 Ire Td YRT B 91l BT WA
T 2 3 4y = | a{anmb1a,aiaﬁaﬁmamm%?(ﬁrﬂm
(A) 23
/ \/\z ? o ORE
D ‘
e




MATHECMATICS By Pradeep Sir

D> 5 )Q- Q. 10) The difference between time taken by boat-A to

cover 80km upstream and that taken to cover 80 km
T 7D downstream is 1 hour. If the respective ratio between its
é - g upstream and downstream speeds is 4: 5, what distance

will boat-A gg;:%wﬁnstre%ndif azﬁ h;%rs? (in km) 3
919 A 80 80
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Q. 11) A boat takes six hours to travel a certain distance
V.4 L 6 downstream and five hours to_travel a certain distance
upstream. The distance travelled upstream is half of the
distance travelled downstream. If the speed of the

e /(/‘:w* P o L‘W current is 4 km/hr, what is the speed of the boat in still
3 . water? (in km/hr) .
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D= & AL Q. 12) A swimmer can row 5 km/h in still water and the
speed of the stream is 1 km/h. If the swimmer can cover
a certain distance downstream and the same upstream in
75 minutes. Then find the distance? .
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D= B Q. 13) A man covers a certain distance downstream from
a fixed point and coming back to the fixed point against

stream in 5 hours. If the speed of man in still water and
speed of stream is 10 kmph and 4 kmph, then find the

Y G distance of the destination from the fixed point?

s> Y | frelt safes @) 1 g et T wE R U1 & 3w
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D - S)C-[, Q. 14) The speed of a swimmer in still water is 7 km/h

and the speed of stream is 3 km/h. The swimmer takes 6
hours more to cover a distance upstream than to cover
the same distance downstream. Find the distance?

U dUP &I Uid & d ara 7 fedt/ave § aur uRT 3t

are 3 it aee 81 39 P &1 T & fauda fun &
fFdt g &t a9 F F URT Dt G | 6 v AP A
g1 gty e 2 T

(A) 40 km

(B) 36 km

(C) 44 km

(D) 48 km
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Q. 15) A boat covers a certain distance in a fixed time
along the current of stream. It takes double time to cover
the same distance if it goes against the current. If the
DS ﬁ__ﬁ_ speed of boat is 4.5 km/h, then find the speed of
8 current? e
XL+ > - 19 o1 Dt g3 | ag s ¥ g g
= ?m?gﬂn o bty bl d o
T l . o ¥ 2 ey s '
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Q. 16) Suresh can row a certain_distance upstream in 9
hours and down- stream the same distance in 6 hours. If

the speed of stream is 3 km/ h, then findthe speed of
Suresh’ rowing in still water? |

RUuRTH e A v P gl Fre ue A qa war g
94T YRT & faudta fewn & a8 g3t 9 woe & qa swar g1 afe
URT 3t 91 3 et /ave 8, ot wia o § R I 9ra g1
P ?

(A) 16 kmph
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Q. 17) Two boats A and B starts from two points located
at a distance of 108 km. towards each other. Speed of
boat A and B is 12 km/hr and 15 km/hr respectively, If A
is going downstream and B is going upstream after how
much time will they meet?

gl 919 A 9T B, 108%&&@«%&%@@
Waﬂmmm%lmmﬁmtx B &I ATd
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(3) 4 hour / mr%
(C) 5.4 hour/ ©
(D) 6 hour / tm%
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= Y Km Q. 18) The distance between two places A and B is 14 km.

A boat travels from A to B downstream and then returns

M Km) from B to A upstream and takes a total of 3 hours 44

A i |, minutes for the entire journey. If the speed of the

lL\. (_rﬁa \""‘) current is 2 km/h, then what is the speed of the boat, in

j_-\»@%”b km/h, in STl water?
L. s 1 a}am‘anﬁn%fﬁaﬁ;&uM 21 & 91d URT &
) % %&nﬂ‘Aﬁswaﬁﬁ%aﬁvﬁﬁ?m%mﬁ
ﬁmﬁaﬂAaﬁmm | 39 R g | 39
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MATHECMATICS By Pradeep Sir

Q. 19) Abhi rows upstream a distance of 28 kmin4 h and
rows downstream a distance of 50 km in 2 h. To row a

-~ &5 . distance of 44.8 in still water, r, he will take:
%1 e | 3t ATa R 4 52 | 28 {6 Bt Hedware g a7 B B
o aYT 2 °¢ | 50 THH! B o3 99 $ar gl A9 |
Zz-y = TRn ;n%maﬁuam a‘i;g E 9 733 3 39 P e 0
> —
TGS e
& =Z= 'S 2 ety
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D= SKT Q. 20) A man can row a boat with the speed of 6 km/hr
in still water. If speed of stream is 2 km/hr it take 3 hours
more to go against the stream to a certain distance than

with stream. Accordingly, what is the distance?
U Afad 6 fFdl/aver it wfd ¥ RR u=t F =@ 9«

= ' ' oal ¢ | afe TR 31 e 2 et/ woer ), @Y urT B v
$=» 8 1 9 \ o1 # S8 U W g3l aP URT & |1y o1 &t a1 J 3
. gue Afie @ §1 9egR 98 gt feait 8 2 =
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Q. 21) Speed of a motorboat _in still water is 45 km/hr If
it takes 1 hour 20 min. to travel BQ_km. downstream, how
much time will it take to cover the same distance in

upstream? 'S
f<t Hiex dc 3 wia ora § 91a 45 i/ aver @ af ur

& Igpd 80 fHHt #t g a7 HH A HieY dic 1 ¥UeT 20
e &1 |9ug ddt 81, 91 Ia-1 ot g3t URT @t faudita = o
a9 &3 | a8 faar gug &t 2 R—
(A) 3 hour / 3 ¥U¢
B) 1 hour 20 mi
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Q. 22) Speed of boat and river are in ratio of 5: 3 in still
water. Ratio of 2 different distances in river is 10: 7. If

T ——

these distances are covered upstream and downstream
respectively, what'is the ratio of time taken?—

MATAH TS ATA D A AYT TP Al DI ATAH 5 : 3 BT

Gﬁmgl TG 7 S Srev-3reT gial & di9 10 : 7 BT
.S 3qurd 7l afe 34 ®! HUL: a8 UYRT & Ao aun
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& bt 1 Y Ve Q. 23) A boat running upstream takes 8 hours 48 minut
_‘iJh >~ to cover a certain distance, while it takes 4 hours to cover

S S —=  the same distance running downstream. What is the ratio
between the speed of the boat in still water and speed of

>

(D) None of these

&j.."ﬁ) L£+3> the water current?
19 faelt &t &t ur1 #t fiudia ez # 8 ave 48 e
u.s 25 ag Bl @ auT URT B fawn F 39 gft B 4 w0 A 7
— — Hdl g1 AT oa # ATd Bt T1d IYT YRT & 7 BT =T
ml) = /q 1T .?
[_) —S-_' ‘ (A) 2:1
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5' - J Q. 24) Ratio of time taken by a boat to travel a certain

_—F distance in downstream and upstream is 3: 5. If speed of
stream is 3 % km/hr, find speed of boat in still water?
U$ A1 gﬂ fod fAfda gt & 4R & G|
T+ 3 5 SEUare H 99 I H T AHT BT AU 3:5 8 | TG URT
‘ @t 9@ 3= fedfi/der 81, @ = w@ A A@ F 9@ g
c v o P IGIT
5 -» ' h
(B) 9 km/hr
(C) 25 km/hr
| .{ (D) None of the above
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Q. 25) A goods train_and passengers train are running in
same direction with a speed in the ratio 1: 2. The driver

of goods train observes that the passenger train commg
5 from behind overtake and crossed his train completely in
l g 60 sec. whereas a passenger on passengers train looks

— —_— that he crossed t in in 40 sec. Find the ratio
wﬁ St U _femm F o @ @

PQZW”SL L) ofthelr length
K ELIG A BT SRa7 A HEHH
Sy ) et &%am'méﬁ%amma%ma 2 60
L dPvE d UR $T Adl & o gt 3
m%%mmﬁmm frar 21
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Gy Q. 26) A boat travels 68 km. downstream and 45 km.
e 5 upstream in 9 hrs. “If boat travels 51 km_&:wnstream and
,(8' o ﬁ _ 7 b\ K3 72 km._ypstream in 2 2_hrs. more, then fi ind speed of
\""C": > - — ¥ stream and s of boaﬂt‘ in still water? 3 a5 Fsh

\ ,e\; W’ﬂa URT 68 aYT SR | 45
- ¢ A ﬁg M A ggm # 51 ?ﬂﬂ
Ky ’_ aznm 72 9g ¥ a9
E—-‘- 1—; -:.1))#‘1 B &, at URT B AT AT %mﬁmm
Q.'PZ *-d P on
— : «m/hr, ¢
oM/ BS - 23 () 17 km/hr, 9 km/hr
<~ 7 —d (D) None of the above
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Q. 27) A boat takes 6 hours in going 24 km. upstream
and 36 km. down- stream and takes 6% hours in going
36 km. upstream and 24 km. downstream. What is the

’
speed of stream?
URT & 24 &t aur ymT & Sfew 36

gﬂaﬁ
B g3 99 FIA H 6 Uve IR URT & ufdpa 36 fadt

%‘@@ . 7 a1 YRT & e 24 fedt 3t g 7 F37 6 wve At B
N TR i iy
z X+
(x9) (Y e TS e
D (D) 2.5 km/hr
gz el
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Q. 28) A gives a start of 5 sec to B in 1000 m race. But
both finish the race at same time. Find the time taken by

A 3 - A to finish the race Ifs eed of B is per sec?
T L
| O} TP ol HHY WX TH Bd
o0t [osort I aﬁrmwsﬁamsﬁfé
‘_..--

£ gec Q_H’) S0

(C) 185 seCIﬁ.

/ (D) 205 sec/d.
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Q. 29) Ais 5/3 times faster than B. A gives 60 m start to B
in a race. Find length of race if both finish the race at
same time?

A, BRA5/3TATAT 2l A B P! TP g # 60 Hiex &t
- |%a’rﬁwﬁmwa’fsmmaa’t
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Q. 30) In a 1000.m race A gives a starts of 100 mto B &
150 m to C. How much start B can give to C in a race of

1000 m? —
A 5 C 1000 T}, 3 v® ats A A I B B 100 . ) 3= & R
C B 150 HI. H Y= 411 1000 H. Ft s # B, C H
1000 940 250 ﬁmﬁgﬁmémﬁv
A) 55- m/ HI.
—
Goomi — Sot o200y 3
590
| S -l
S"O‘ R0 M
(ooowk —9 ’{‘:‘jl 55%\ )(‘
c L 3
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Q. 31) In 1000 m race, Anju gives a start of 100 m to
Kritika and beat her by 200m. In same reace Anju gives a

’]‘M start of 100m to Deepti and beats her by 300 m. By how
_» % A T e
U\ PM | aﬁva%zoo%ﬂ |31ﬂaﬁ3ﬁaiqé?ﬁﬁg1oo

L
Ft al & 3R 3% 300 Hew St E
= (E& ﬁg&ga zﬂ3.00 a%?m ? | 50

(A) 7 meter
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